g 2 — B =X N=y 1/
2021098308 (K)
BMEHY T
2. IRY7F 74 v )LHDEALAGL  HDEAZEI00%
B—#  DEBEIBLLNT (IE 5 NAIE F&HIE]

JIE 52 K £ sy [ =8| HDCP | Ry b B =
1| KH #®Z 44 43 87| 13.20| 73.80 |
AN/ 48 43 91| 16.80| 74.20 | HEHER
3| HRE SE—RR 42 41 83 8.40| 74.60|3h
41 dH O SThF 49 47 96| 19.20| 76.80
5| £k SEIL 52 54 106 | 28.80| 77.20
6| Hff ® 50 54 104 | 26.40| 77.60
7 ke —IA 46 46 92| 12.00| 80.00
8| Fuil Mk T 60 56 116 | 33.60| 82.40|BBH
9| =& % 69 59 128 | 42.00| 86.00
a—2X fELA—IL )
11)\— 1 3 4 7 8 9
2L14%9 10 11 13 14 16 17
IOV TY 20 21 22 23 24 2]

TAV—EEAD ) —{EER



